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https://1drv.ms/b/s!AvI7wzKf6QBjgQoPvHTRY2sFeft3  QUESTION 71The Composite Provider has three subset of providers. 

What are they? There are 3 correct answers to this question.Choose: A.    Query ProviderB.    Transient ProviderC.    Virtual

ProviderD.    Source ProviderE.    Multi Provider Answer: BCE QUESTION 72Your customer runs SAP Business Warehouse (SAP

BW) 7.4 on SAP HANA and would like to build a Bex Query on top of an existing native SAP HANA calculation view. The query

should make use of a master data hierarchy that is already available in SAP BW.What is the recommended approach for this

scenario?Please choose the correct answer.Choose one: A.    Create a SAP BusinessObjects BI Universe and copy the hierarchy

from SAP BW to the field of the SAP HANA calculation view.B.    Create a Virtual Provider and associate all fields of the SAP

HANA view with SAP BW InfoObjects.C.    Create a Composite Provider in Eclipse and associate the relevant field of the SAP

HANA calculation view with the corresponding SAP BW InfoObject.D.    Create a Transient Provider and associate only the

relevant field of the SAP HANA calculation view with the corresponding SAP BW InfoObject. Answer: C QUESTION 73Who is

responsible for a powerful design environment to build visually compelling reports without compromising productivity?Please

choose the correct answer.Response: A.    SAP Crystal ReportsB.    Work SpaceC.    Monitoring workspacesD.    InfoProviders

Answer: A QUESTION 74What are the key benefits of Key Benefits of Enterprise Data Warehousing? There are 2 correct answers

to this question.Response: A.    RigidnessB.    IntegrationC.    Blockage of infoD.    Reusability Answer: BD QUESTION 75What

all are the elements of LSA?There are 3 correct answers to this question.Response: A.    Virtualization Layer only on top of

Architected Data Mart and only UNION (MultiProvider)B.    Result of transformations stored in additional persistent Layer, i.e.

Architected Data MartC.    Reading from a DSO is fasterD.    Calculations and aggregations are fasterE.    No reporting on

Propagator Answer: ABE QUESTION 76How you can see where the first data row begins, and how many headers there are? Please

choose the correct answer.Response: A.    Display DataB.    Core DataC.    DB DataD.    Meta Data Answer: A QUESTION 77How

can you transport the Composite Provider from transaction RSLIMOBW? What are the prerequisites?There are 2 correct answers to

this question.Response: A.    Modelling dataB.    The Composite Provider does not contain an analytic index.C.    The Info Providers

that make up the Composite Provider are already available in the production systemD.    Analytical tools Answer: BC QUESTION

78The migration of the database to HANA will show significant performance gains. What are they? There are 2 correct answers to

this question.Response: A.    Result of transformations stored in additional persistent Layer, i.e. Architected Data MartB.   

Virtualization Layer only on top of Architected Data Mart and only UNIONC.    The query performance will be significantly faster.

D.    There will be less volume on the database even if the data volume itself remains the same, since indices are no longer

necessary. Answer: CD QUESTION 79What are the main forms of data use in Operational Reporting within Classic Data

Warehousing? There are 2 correct answers to this question.Response: A.    Strategic for aggregated dataB.    Operational for granular

dataC.    Upload data for customersD.    Systematic data Answer: AB QUESTION 80Which is not an element of BI Projects Built on

Customer LSA Standards? Please choose the correct answer.Response: A.    Storage Management standardsB.    SAP'S -LSA

standardsC.    Customer- LSA operations standardsD.    Customer-LSA implementation standards Answer: A  !!!RECOMMEND!!! 
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